System supports SST steel

S DR ARSI System support

R —

Characteristics

Wire quide transversable 3D made of Inox A2 for cable system

8mm with glider GL8
{montiert auf M 16 Grundplatten}

Article-Nr. |E-Number mm mm mm ¥ mm S 4
h X | L
% 2, b I O B
=== BaseplatP B
310.001.001 | InoxA2 | 150 150 29 | 4] 1
I /?{I[ Wire guide 3DSF8
320.000.007 | | InoxA2 | | | | 4] 1
f-i’ Screws M16
951.04.355 | | InoxA4 | | | M16x35 | | 25
ﬂ,_..:.l Washers ULS
953.04.069 | | Inox A2 | 6| | M16 | | 500
ﬂ Screws M10
Article-Nr. |E-Number M ;‘ﬁ
951.04.374 lnoxA4|  M10x25 100
951.04.352 InoxA4|  M10x30 100
951.04.334 InoxA4|  M10x35 100
951.04.319 InoxA4|  M10x40 100
f\h_,’_fl Washers 953.04.028
Article-Nr. |E-Number mm mm  F mm & oy
D h «> Z4 —
2 l > M A
953.04.028 20 2 10.5 Inox A2 500
(8@ 950.04.359
Article-Nr. |E-Number — fﬁ
950.04.359 InoxA2 M10 100

Arthur Flury AG | CH-4543 Deitingen/Switzerland | T: +41 (0)32 613 33 66 | F: +41 (0)32 613 33 68 | www.aflury.ch | info@aflury.ch
Subject to technical modifications | Print: 19th of May 2024




Accessories

ﬂ 953.04.073 null 953.04.073

Article-Nr. |E-Number % mm I— ‘ a
h

953.04.073 InoxA4 6| M1014% 25

Accessories

ﬂ 953.04.073 null 953.04.070

Article-Nr. |E-Number % mm T ‘ a
h

953.04.070 InoxA4 6 M10 8% 100

G2

Arthur Flury AG | CH-4543 Deitingen/Switzerland | T: +41 (0)32 613 33 66 | F: +41 (0)32 613 33 68 | www.aflury.ch | info@aflury.ch
Subject to technical modifications | Print: 19th of May 2024


http://www.tcpdf.org

